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The question paper comprises two Sections, A and B. You are to attempt
both the sections.

All questions are compulsory.
There is no choice in any of the questions.

All questions of Section A and all questions of Section B are to be
attempted separately.

Question numbers 1 to 3 in Section A are one-mark questions. These are to
be answered in one word or in one sentence.

Question numbers 4 to 6 in Section A are two-marks questions. These are
to be answered in about 30 words each.

Question numbers 7 to 18 in Section A are three-marks questions. These
are to be answered in about 50 words each.
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in Section A are jive-marks questions. These
are to be answered in about 70 words each.

Question numbers 25 to 33 in Section B are multiple choice questions
based on practical skills. Each question is a one-mark question. You are
to select one most appropriate response out of the four provided to you.

Question numbers 34 to 36 in Section B are two-marks questions based on
practical skills. These are to be answered in brief.

T A
SECTION A

39 e Aot W fgdi ot qdte e o snifigess ¥ fofew forent wem
HEH TITE R |

Write the molecular formula of the 224 -and 3% member of the

homologous series where the first member is ethyne.

foreft wivefrer 35 foru feforsrar it Trewaet 2 2 2

Why is variation important for a species ?

frfiified @I S@a |, 9ed sl 20,000 J el 39 7 | 39 *T@el § 7Md
i fohafl Sl 3qcTsy BAAT 2

oY > ’3@3 > HIHAd
In the following food chain, 20,000 J of energy was available to the
plants. How much energy would be available to man in this chain ?

Plants —— Sheep —— Man

13 fora 30 cm BIHE g o Hadd 8 € 15 cm g0 W food 8 | oF g =
wfifers & =R stfvrason (swepfa, feufa, onfe) < = same |

An object is placed at a distance of 15 cm from a concave lens of focal
length 30 cm. List four characteristics (nature, position, etc.) of the image
formed by the lens.

39 Toh TATUIAG & 3R TTh{deh TEEAl o &0 § §edM ¢ 9med & | U8
IR ToRATehaITdl <l T TS e 3119 T L T & |
You being an environmentalist are interested in contributing towards the

conservation of natural resources. List four activities that you can do on
your own.
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Why are coal and petroleum categorised as natural resources ? Give a
reason as to why they should be used judiciously.

Y o fau TEEfe i f gEEar 8 TRt S |igHIeh
arfufshamsti o &= faved HIfT | (1) Teed, I (i) TR gfshan
Teh-Ueh 39T feAfigu |

Distinguish between esterification and saponification reactions with the
help of the chemical equations for each. State one use of each (i) esters,
and (ii) saponification process.

JMAr g 2 AR

TYHTE 1 A fafew | @ gaT @ 9 30 wig H,S0, % ATy o
443 K R T4 Topem Sram g 2 stfufshan o1 oftentor foiRaw dem 59 stfufsean &
|ig H,S0, %! ffehl 1 3g@ i |

Write the structural formula of ethanol. What happens when it is heated
with excess of conc. H,SO, at 443 K ? Write the chemical equation for the
reaction stating the role of conc. H,SO, in this reaction.

JMYgfTeh Tad FROM & Hey | dwal o TUIGHI | STEfqdl 91 8 ? H9H FHE
ot axal o TUIgH THE w1 g 8 2 fohe ATad | 918 3R ¥ IR 3R W W
el sl goiag TRYT i i S § T qHEa Bidl @ ? 39 IRad 1 HR0T
fafy |

What is periodicity in properties’ of elements with reference to the
Modern Periodic Table ? Why do all the elements of the same group have
similar properties ? How does the tendency of elements to gain electrons
change as we move from left to right in a period ? State the reason of this
change.

T ael X 3R Y, ek W] AT HH: 20 R 17 &, % Soraih [T
foRaw | a@ X 6 o Y & afufshan g a9 e 1 ook g foafaw | 5@
3G <l FoiagH-Iorg TLEAT WU 3 qHI dwal o offe & 314 hl Tehid
&1 3g@ it il |

Write the electronic configuration of two elements X and Y whose atomic
numbers are 20 and 17 respectively. Write the molecular formula of the
compound formed when element X reacts with element Y. Draw

electron-dot structure of the product and also state the nature of the bond
formed between both the elements.
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=g feRelt Sfta & e =1 g1 9T 2 3
How did Mendel explain that it is possible that a trait is inherited but not

expressed in an organism ?

12. Sa-fosm @ 7 ? 38 WG o THH T&l T ST FehdT | Teh IUFd 3aTaLl <hl
TR & AT HIfT | 3
What is an organic evolution ? It cannot be equated with progress.
Explain with the help of a suitable example.

13. S % &1 YRR oh! FET ST | 39 SF1 H § 19T Fafd § IAfees fafiea
& U i IaerR 8 3 frg R 2 3

List the two types of reproduction. Which one of the two is responsible for
bringing in more variations in its progeny and how ?

14. hIeh Yo w1 8§ 2 39 fof¥r & @) o9 3R @ ==t fafae | 3

What is vegetative propagation ? State two advantages and two

disadvantages of this method.

15. TduRe ® Ukt & foru foshfad 1 78 9 deeRl it HE sARe | s @
hI9-Et Tehrilch JENI o ToTC Tel & ? §9 dehrilohl o1 39N fohd YhR fopeft af@aw
% T 3R TG ol Y YA Hial g ? 3

List three techniques that have been developed to prevent pregnancy.
Which one of these techniques is not meant for males ? How does the use
of these techniques have a direct impact on the health and prosperity of a
family ?

16. “Is o 3 g W fors o Hien faafeda gfdfars oft a1 Tehar 2 3k 3o
foafdia wfafers i ST &ha1 8 |7 39 <1 1 Tehid 1 3g@ I IR 39T
HeA i gfee & e foror @ difau | 39 sm@ # O, F 3 2F i feufoat
oft sifera hifST | 3

“A lens can form a magnified erect image as well as magnified inverted

image of an object placed in front of it.” State the nature of this lens and
draw ray diagrams to justify the above statement. Mark the positions of
O, F and 2F in the diagram.
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“Tad epTSr AT %W%%ﬁ;g':wg% w(:r'g-lwﬁlf‘rlr;qTM gt & T
TmifeRd AN T | 39 S ® A & fore AT eHi s wdum g 3R
Th-gEL o "uE I feafd # war S R st @ 2

What is “dispersion of white light” ? Draw a labelled diagram to illustrate
the recombination of the spectrum of white light. Why is it essential that
the two prisms used for the purpose should be identical and placed in an
inverted position with respect to each other ?

(a) A Tsh A~ WEwqUl Tehfdeh TETEA 7, S Sftad & fow omd 7 |
3Teh foqie < foieres o =med 8 fob o1 =ATeHe Hoarehd fhamehad o
fu, “vTongR WTehRfaeh FFIET — A i hH F=TC AT W I Al
TATET | 5T Bl Sy S0 & R H 379 9S8 H SIEshdl 3cae i
T =g &1 3u™ g |

(b) Tl T U™ &1 TW IR I AT HiGE SEb g Musa T i
3 = e & et <1 b |

(a)  Water is an elixir of life, a very important natural resource. Your
Science teacher wants you to prepare a plan for a formative
assessment activity, “How to save water, the vital natural
resource”. Write any two ways that you will suggest to bring
awareness in your neighbourhood, on ‘how to save water’.

(b) Name and explain any one way by which the underground water
table does not go down further.

Jh 1 Teh-Ush IGTET goht IUTHSId @I&Ivli 3T AT A&vl o o9 faued
SHifsre | forelt =afte gRT 1o Trqul Sfe-hret § IUTRTa @eav)/aTgwa 3TTalt digt
o FETETA 1 el gl ? 39 A2 1 HIUT IGTEWT Gl TISE ShITT |

With the help of one example for each, distinguish between the acquired
traits and the inherited traits. Why are the traits/experiences acquired
during the entire lifetime of an individual not inherited in the next

generation ? Explain the reason of this fact with an example.
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(1) N
(i) TR
(iii) AT =&
(b) HHI ST H WAHCT bl TLEAT 3T AT ol 3T hiNT | 5

(a)  Write the functions of each of the following parts in a human
female reproductive system :

) Ovary
(i1)  Uterus
(iii) Fallopian tube

(b)  Write the structure and functions of placenta in a human female.

21. O AR H gESIHEA R Hgl Al 8 ? Uoehd, UeehH N Ueshled
FESTr AR 1w g TR qen g Al o YU deed i gt W
Hifau | Uehd 1 Ueohd # Gitafdd s bl sififsean o am fafag it
e iRt gRT 39 sk & g9 & foru smavas wifeufaat & off
Y | 5

Why are certain compounds called hydrocarbons ? Write the general
formula for homologous series of alkanes, alkenes and alkynes and also
draw the structure of the first member of each series. Write the name of
the reaction that converts alkenes into alkanes and also write a chemical
equation to show the necessary conditions for the reaction to occur.

22. (a) Tihegfe Qw @ difed ®E @@ 5 m ¥ 1fss gff w foua fowai &t T
TR <@ Uil | 39 G QI % 309 T h ¢ WWIId RN hi F
FAT3T | Toptur ST <hl HERET § ST hifay foh
() 98 BE 5m ¥ Aus gl W fouq foral 1l Toe =1 71 <@
1t |
(i) 39 3fe T o G o T 39 foRE TehR o6 1| ST ST AT
IIET T 38 @ o ITAN ¢RI 39 Y bl G fohd TR BIaT
2 |
(b) AlE, 39 TR H, WRYUH @H Hl Hihd gl Hl TACHS AF 5 m 7, al
Tft Sty fog afardt & 3TER 38 <" 6 a|ar 31d i | 5
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A student suffering from myopia is not able to see distinctly the
objects placed beyond 5 m. List two possible reasons due to which
this defect of vision may have arisen. With the help of ray
diagrams, explain

1) why the student is unable to see distinctly the objects placed
beyond 5 m from his eyes.

(i1)  the type of the corrective lens used to restore proper vision
and how this defect is corrected by the use of this lens.

If, in this case, the numerical value of the focal length of the
corrective lens is 5 m, find the power of the lens as per the new
Cartesian sign convention.

Fafatea deor aifaert o1 fawevw Hifse, e 9o g f foafq o
foragll (w) % @iy wfdferagd (v) 1 forwor g w8, AR fomr i

qfehera fort &t feferfaa goi & 3o €S

(a)
(b)

(c)

- faragh e
e u (cm) v (cm)
1 - 100 + 25
2 - 60 + 30
3 -40 + 40
4 -30 + 60
5 - 25 + 100
6 - 15 + 120

I ¥ <l BIhH gl FAT 7 ? 37U IR 1 §fed o foIg Hro e |
39 YeTu7 S s TE foafge S T 98 3 | I8 SRy 1ad T ememr
R FehTeT § 2

frelt 3fo@ YU o1 AR HE W& 2 % VAU & faw fRwr oM@
difau | emaeds w1 e 7= ot s i |
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Analyse the following ~observation table® showing variation of

image-distance (v) with object-distance (u) in case of a convex lens and
answer the questions that follow without doing any calculations :

S No. Object-Distance | Image-Distance

u (cm) v (cm)

1 - 100 + 25

2 - 60 + 30

3 - 40 + 40

4 -30 + 60

5 - 25 + 100

6 -15 + 120

(a)  What is the focal length of the convex lens ? Give reason to justify
your answer.

(b) Write the serial number of the observation which is not correct. On
what basis have you arrived at this conclusion ?

(c) Select an appropriate scale and draw a ray diagram for the
observation at S.No.2. Also find the approximate value of
magnification.

24. (a) e Tl o grr soes ame fodg fore < foreht oft feafa & oo mea
& Bier, dar i sl sfafars s7ar 2, @ 3@ i i yfa fafee
3R 79 IW HI gfee & fore fomeor s oft &t | 39 yehr & gdun
&1 Th 9T faifgu qenm gt SuEm @ feRn ST R, 3R 3g@
HIT |

(b) AT U i gshar B i aftam foiRgw | e el gdur i
Thd 3R Ry gt 1 shifoe, foeeh! asha 51 + 24 em 7 | 5

(a)  If the image formed by a mirror for all positions of the object
placed in front of it is always diminished, erect and virtual, state
the type of the mirror and also draw a ray diagram to justify your
answer. Write one use such mirrors are put to and why.

(b)  Define the radius of curvature of spherical mirrors. Find the
nature and focal length of a spherical mirror whose radius of
curvature is + 24 cm.
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SECTION B

39 @ H 319 v, frfa s it fomem o & smas: foraes g fasfua

P M R 2
(A y,p,z
B) x,q,z
C©) by z
D) p,zy

Study the following ray diagram :

In this diagram, the angle of incidence, the angle of emergence and the
angle of deviation respectively have been represented by

(A y,p,z
B) x,q,z
C) pyz
D) pzy
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% o _ gBBgS;éguestio%Bgznk; %[%are R S

TS | TSR aTell Jehrer foRTOT @1 99 STRREd EaT 8 | TR 98 3T hivl
Jdeh M o AU 3T9ade i (£ r) 3T Tl I (£ ) & Td 91 <l |9
2 | 39 v <hl 7191 T fagawr ohteh 38 w1 sy femrern =nfgu 2

(A)
(B)
(®)
(D)

Zi>/Zr>/Ze
Zi=/Ze>/r
Zi<Zr<Ze
Zi=/Ze<[Zr

A student very cautiously traces the path of a ray through a glass slab for
different values of the angle of incidence (£ i). He then measures the
corresponding values of the angle of refraction (£ r) and the angle of
emergence (£ e) for every value of the angle of incidence. On analysing
these measurements of angles, his conclusion would be

(A)
(B)
(&)
(D)

Zi>Zr>Ze
Li=Ze>Zr
Zi</Zr<Ze
Zi=/Ze<[Zr

fou o foptor s 1 SAeEE v iR f=falea ® @ w& sam g .

\\x'

(A)

(B)

(&)

(D)

1

X

L I /7 /

<«——20 cm qlat
«——25 cm——

gfekd X HAdA U0 2 3N Ik Y 39 o9 &, Seh! Hishd gRAT shus:

20cm 3 25cm 2 |

giord X 3T 8 8 3R Yk Y Fadd qUul @, hl wiepd gt shom:

10 cm 3 25 cm @ |

gford X el oiF & AR IR Y 39 U0 &, Sehl wishd giai o

20 cm 3R 25 cm ® |

giekd X 3T oF 8 3R Ik Y 31aqa qUul &, eh! Hiehd GHAT hAs:

20 cm 3 25 cm & |
QB365-QuestiomBank Software

P.T.O.



28.

31/3

0B365-Question Bank Software

Study the given ray diagrams and select the correct statement from the
following :

%}"

«— 920 cm Screen

1

17 77

Screen
«——25 cm—

(A) Device X is a concave mirror and device Y is a convex lens, whose
focal lengths are 20 cm and 25 cm respectively.

(B)  Device X is a convex lens and device Y is a concave mirror, whose
focal lengths are 10 cm and 25 cm respectively.

(C) Device X is a concave lens and device Y is a convex mirror, whose
focal lengths are 20 cm and 25 cm respectively.

(D) Device X is a convex lens and device Y is a concave mirror, whose
focal lengths are 20 cm and 25 cm respectively.

s BF IqA 8GRI ThE G [oFe ol el Jdfers We T 3T il 2 |
TG W TS Ycfers ITed i o [oq 38 g01 i faweprn g

(A) WEHF

(B) W i 3R

(C) foreft Tt feufa @ S e @ T T B

(D) A1 A UG H AR AT WG F g, I8 o hi feufa w FreR e B

A student obtains a blurred image of a distant object on a screen using a
convex lens. To obtain a distinct image on the screen he should move the
lens

(A) away from the screen
(B) towards the screen
(C)  to a position very far away from the screen

(D) either towards or away from the screen depending upon the
position of the object
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TR ATUTHAT 1 ALAIT hid THI AT Sl H o g0 g1 o fopedt
TEH I9fd 9 4 NaOH &1 20% ¥ faoee faerd €, a s Jeor s»id

8 ? 1
(A Tasor 1 a1 TR0 9@ A T B

(B) o & g Ieeeree B W

(C) et =1 wTEdl Y53 TWH Bl T 8

(D) TRt =1 a8l I53 3T &l T B

While studying the saponification reaction, what do you observe when

you mix an equal amount of colourless vegetable oil and 20% aqueous
solution of NaOH in a beaker ?

(A)  The colour of the mixture has become dark brown

(B) A brisk effervescence is taking place in the beaker

(C)  The outer surface of the beaker has become hot

(D)  The outer surface of the beaker has become cold

S 39 Teh WEHCl H HIfSd STgehlaie sl JuT oiohl IHH UHIfesh 310 hi

IS I Sl 8, dl Ffiad 3§ 8 hIH-81 J&701 Hid 7 2 1
(A) IS arffsear T

(B) el Ty arehl TR 19 1 i gegeree o @1y fomed

(C) s gegarEe o |1 gL T i A9 1 fom=q

(D) TTEM 3R TgEH 19 o JAgal T o]

When you add a few drops of acetic acid to a test-tube containing sodium
bicarbonate powder, which one of the following is your observation ?

(A)
(B)

(®)
(D)

No reaction takes place

A colourless gas with pungent smell is released with brisk
effervescence

A brown coloured gas is released with brisk effervescence

Formation of bubbles of a colourless and odourless gas
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% & T 3IUcey g & | JANRCT § S d€U &, Sl Agd I ° "o |3
FHIX A 1 bl & | @901 & Fefilad wgi ¥ @ a8 wug giiw o g
AU I A IA H = A W I HSW I &1 ¢ |

(A) Hifsan FAgS, TISREH FEs

(B) wifesm Hethe, diRrm Tethe

(C) wifesm Hethe, hicHan Hethe

(D) hfcoaw Tethe, hicdam FANES

A student requires hard water for an experiment in his laboratory which
is not available in the neighbouring area. In the laboratory there are
some salts, which when dissolved in distilled water can convert it into
hard water. Select from the following groups of salts, a group, each salt of
which when dissolved in distilled water will make it hard.

(A)  Sodium chloride, Potassium chloride
(B)  Sodium sulphate, Potassium sulphate
(C)  Sodium sulphate, Calcium sulphate
(D) Calcium sulphate, Calcium chloride

feefiowsft it & yor & fafSe 9 Sl 98=Ee &1 S w6 e sdyem
3Tkl hig fgefiored! sffsr =feq | Frefaifiga @ o @ gt s g

g, =1, Heehl, WY, Sil, HIha!
(A) TF, T IR AKX
(B) =M1, WX 3R bl
(C)  HhT, T 3 St
(D) =T, HehT 3T Tohei!
To perform an experiment to identify the different parts of an embryo of a

dicot seed, first of all you require a dicot seed. Select dicot seeds from the
following group :

Wheat, Gram, Maize, Pea, Barley, Ground-nut

(A) Wheat, Gram and Pea

(B)  Gram, Pea and Ground-nut
(C) Maize, Pea and Barley

(D)  Gram, Maize and Ground-nut
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3T, AT, Hel, ST, TSR, TAlehl

TH U SI9-H 3 gieaai gusd GEET1sT 1 gl w9 wdt 7 2 1
(A) TSR 3R A

(B) 3T AR &

(C) e IR TR

(D)  Fell 3R AwhI

The following vegetables are kept in a basket :
Potato, Tomato, Radish, Brinjal, Carrot, Bottle-gourd

Which two of these vegetables correctly represent the homologous
structures ?

(A) Carrot and Tomato
(B)  Potato and Brinjal
(C)  Radish and Carrot
(D) Radish and Bottle-gourd

34, orfier o fg@ued <t Ufshar i (IR =/ON gRT) SHHER 3G iTe guisy | 2

Draw in sequence (showing the four stages), the process of binary fission
in Amoeba.

35. i O 10 cm HIhH Gl o 3Iqdl H 1 ITM Hleh 0F § W 2 m g |
T AeRt 6 STl H WS W GBI AT B | 39 UvEd 98 SaTell Sl
R | A AR Rggehrar g 3 g R 35k Afdfers &l T T Bihiad
HT 2 | 2

(A) T W SITAT hl Bk i o T 30 @@ I fmg fesn 9 fegenmn
BT 2

(B) e W &4 SaTdl o Afd{oFa o T3S § 7 3T &Il & ?
(C) W W & SarelT o Yfdfers i digan (sweh) § w1 =R fe@ms <ar 2 2

(D) & oI | o 9gd 9 (SR 5 cm G0 W) Bl 8, O We W HAT
femrs 2 2 2
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A student focuses the image of a candle flame, placed at about 2 m from a

convex lens of focal length 10 cm, on a screen. After that he moves

gradually the flame towards the lens and each time focuses its image on

the screen.

(A)  In which direction does he move the lens to focus the flame on the
screen ?

(B) What happens to the size of the image of the flame formed on the
screen ?

(C)  What difference is seen in the intensity (brightness) of the image of
the flame on the screen ?

(D)  What is seen on the screen when the flame is very close (at about

5 cm) to the lens ?

TR B H@EH S % U oAavdes amfl (TEEiE qerei) w1 3g@
Hifore | ARt arfufsean o stfufshan fsmn i wepfa (sTeia/ai™) <
ferifea s aren wiegor 3y form TR T 2 FaY | o I |

Mention the essential material (chemicals) to prepare soap in the

laboratory. Describe in brief the test of determining the nature

(acidic/alkaline) of the reaction mixture of saponification reaction.
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Summative Assessment Il (March- 2017)
Marking Scheme

Class X — Outside Delhi Code No. 31/3
Q. Expected Answer / Value point Distribution 4o
No. Section- A of marks
1. CsHs4, C4Hs o+ Vs 1
2. Survival advantage / survival of species over time 1 1
3. 2J 1 1
4. e Virtual
e Diminished
e FErect 2x 4 2
e Same side of the object / formed between F and O

S e Using public transport / limited use of fossil fuels / bicycles to go to

short distances / rain water harvesting / any other activity. 72x4 2
6. | Coal and petroleum are obtained from nature. 1
e They are non-renewable resources which cannot be renewed 2
within a short period of time. 1
7. Esterification — A process in which an alcohol and a carboxylic acid
react in the presence of conc. H2SO4 to form an ester. Va

CH3COOH + CoHsOH —onc: Ha30: » CH3COOC:zHs + H20
V2
e Saponification — A process in which an ester reacts with sodium
hydroxide to form sodium salt of an acid and alcohol / an ester
reacts in the presence of an acid or a base to give back the Iz
alcohol and carboxylic acid.

e CH3COOC2H5 + NaOH—— C2H50H + CH3COONa y
2

e Esters are used in ice creams / perfumes

Saponification process is used in preparation of soap Zz 3
2
8. H H
| | 1
H —(% - ([i— OH
H H
Ethene is produced Va
CHiCH:0H —=1l8% o ooty + Hy0
443K 1
Conc. H,SO4 acts as a dehydrating agent. V2 3
I —————————————————
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9. | e Repetition of similar properties of elements after regular intervals. 1
e Because of the same number of valence electrons.
e |tincreases due to increase in effective nuclear charge which pulls 1
the electrons towards it. 1 3
10. |e X(20)-2,8,8,2
V2
e Y(17)-2,8,7
(17) y
e XY2 v,
X 420 = XZY)E Ve v
e lonic / electrovalent bond A 3
11. ¢ In Mendel's experiment, when pure tall pea plants were crossed
with pure dwarf pea plants, only tall pea plants were obtained in 1
F1 generation.
¢ On selfing the pea plants of F1 generation both tall and dwarf pea
plants were obtained in F2 generation. 1
¢ Reappearance of the dwarf pea plants in F2 generation proves
that the dwarf trait was inherited but not expressed in F1 1
generation.
Note:- If explained with flow chart with proper description, full marks
be awarded. 3
12. ¢ A sequence of gradual changes which take place in the organism 1
over millions of years resulting in the formation of new organisms
/ species.
e Evolution is not progress from lower form of life to higher. It has 1
given rise to more complex body design even while simpler body
designs continue to flourish. 1
¢ You may take an example of human beings who have not
evolved from chimpanzees, but both have common ancestors. 3
13. e Sexual reproduction, asexual reproduction Ve
e Sexual reproduction is responsible for bringing in more variations. iz
e Because of process of DNA copying which may result in some 1
error in it.
e Because it involves fusion of male and female gametes from two 1
different parents. 3

|
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14. e \egetative propagation — A process in which any vegetative part 1
of a plant (root, stem or leaf) gives rise to a new plant under
appropriate conditions.

e Two advantages :- (i) Large number of plants obtained in a short V2
interval. (ii) Propagation of seedless plants is made possible / any iz
other advantage.

e Two disadvantages :- (i) No genetic variations, so, less 72

e adaptability to the environment. (ii) The disease of plants gets 72
transferred to the offsprings.

15. e Three techniques — Barrier method, chemical method, surgical V2Xx 3
method

e Chemical method Y2

¢ |t maintains health of the woman, parents can provide more
attention to children / more resources are available to the family / V2 X2
any other.

16. X
s,
; A 1
B 2'!-‘. !'-‘, B
C,
]
B @ h v A 1
2 P g o : -
\:;\ﬁ\
~
Labeling O, F and 2F 1
Type of lens: Convex / Converging 1,
17. e Splitting of white light into seven colours. 1
Screen

[ ]

1

e Because the refraction / bending produced by second prism is 1
equal to the refraction / bending produced by the first prism.
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18. |a) Two ways of creating awareness
e Door to door campaigning 1+1
e Nukkad natak / any other method.

b) Rain water harvesting with explanation / preventing over extraction

of underground water / any other method Vot Ve 3
19. | e Acquired traits — Traits which develop in the life time of an 1
individual and do not pass to the progeny.
Example- Learning a skill such as dance / music / loss of body Yz
parts / weight / any other example.
e Inherited traits — Traits present in the gamete / germ cells which 1
can be seen in the progeny.
Example — Skin colour / eyebrows / any other example. Y2

e Reasons — Traits / characteristics acquired during one’s life time

do not bring any change in the DNA of the reproducing cells / 1
germ cells.
Examples - Decrease in body weight of beetles due to
starvation do not pass on to the next generation 1
because there is no change in the germ cells of beetles. 5
20. | (a) Functions:
(I) Ovary:-
(i) Production of female hormones / estrogen / progesterone 2+ V2
(ii) Production of female gamete/egg/ germ cells
e (Il) Uterus:-
() Implantation of zygote / embryo Va2t Vo
(i) Nourishment of developing embryo
e (Ill) Fallopian tube :-
(i) Transfer of female gamete from the ovary Rz
(i) Site of fertilisation
(b) Structure of placenta :- It is a special disc like tissue embedded in 1
mother’s uterine wall and connected to the foetus / embryo.
Functions of placenta :- It provides a large surface area for glucose 1
and oxygen / nutrients to pass from mother’s body to the developing /
developed embryo / foetus and also helps in passing the waste from
the foetus / embryo to the mother’s body. 5

|
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21 e Compounds of hydrogen and carbon V2
e Alkanes — CnHan+2 iz
e Alkenes — CnHz2n 2
e Alkynes — CnHzn-2 &
[ ]
H H
| | | Y2 x3
H—?—H . H—C=C—H,6 H—C=C—H
H
e Addition reaction / hydrogenation 72
:
R R,
\C: C< N|/P:2catalyst H ___C_ C —H 1
R -~ R | |
R R
5
22. a)
e excessive curvature of the eye lens A
¢ elongation of the eyeball A
i)
Paraltel rays Irom Gstant
objoct {at infindy) 1
ii) Concave / diverging lens A
s Rays aro first
diverged by
. , L Rating
byt (ot iy} , 1
e .
Beeriliiiiicn —
I lmooehoo
Virtus! the rotina
nage Concave lens 10
atF SRTR CRee
b) f =—5 m (since lens is concave) V2
_ 1 vz
- f(metre) Y
P=—0.2D 2
5
I —————————————————
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23. a)f=20cm V2
Sl. No. 3, Since u=-40 cm and v= +40 cm, it may be 1
concluded that object is at 2F
b) SI. No. 6 72
When u= -15 cm, the object is between optical centre and 1
principal focus. So image is virtual and it forms on the same
side as the object. Hence, v should be —ve, but here it is +ve
(+120 cm)

A
c) i >
1
B 2F
<+— 60 cm
Direction of rays 72
v
Magnification ,m =— = 3£Ocm =-0.5/- 1 72
u - cm 2 5
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24. a) Convex / diverging mirror) V2

Direction of rays V2

1
Use:- As a rear view mirror any other use 72

Reason :- Always give erect and diminished image / Large e
field of view

(b) The radius of the sphere of which the mirror forms a part

/ The distance between pole and center of curvature of e

a mirror.
Nature of the mirror — convex / diverging mirror 1,
R=2f=24 cm v,
S f=+12cm 1, 5
25. C 1
26. B 1
27. D 1
28. D 1
29. C 1
30. D 1
31. D 1
32. B 1
33. C 1 9

|
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34.
=2
s
V2 x4 2
35. a) Note: For part (a) 2 mark to be awarded to every VZ
student
b) Size of the image increases VZi
c) Intensity / brightness of the image decreases V2
d) No distinct image is formed. Only a patch of light is VZ
seen. 2
36. e Vegetable oil / fat and sodium hydroxide 1
¢ Red litmus paper turns blue. 1 2

|
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=i 31/3

T3 g&

T&ifad S / Hedie fog

T - 3T

CH,; CH,

ITRSIART & Ty Fgaqul / HreficR H sl Wi
BT RSB

2 ) Jegar 2 S

o JMIRAT

o A H BIeT

o ler

o I 3R RO &R fdd 5 /ua1lRid @g () iR &=
wied (F) @ 9=

o TAIe aTg=l BT SUANT / SHargHl Se=1 Bl HifHg ST,/
BIc! gRAT & forg arsfdd &1 IUART /auf &1 STt |IST /

3 BIg fHATHAT

o PHIIAT 3MR ULITH URfT & Ut &8I 24

o I BRI FAE & e dH 9 H Tdigd el fhar
ST BT § |

« WY ¢ I8 BT B, Rrad B Todletal fed wraffasafors
I @ A1 Wi H,50, 1 IuRfT #  iffear axa oI
e g1 § |

« CH,COOH+C,H,0H — 130,

* HEAIBRY : I8 UBAT B, TaH DIs WX AT gRsiadRns
I AT s BT 3l BT oTg9T 3R Tchlgiel g1 & 1/
PIS TeX bl 3T J1qar TR &1 IuRfa # Iififear oxe

U Yedhlaid AR Hraiaderd Fel I1dT & |

« CH,COOHC,H,+NaOH —— C,H.OH+CH,COONa

CH,COOC,H,+H,0

2, | 1

4X% | 2

4X% | 2

V2

V2

2
72

QB365-Question Bank Software




QB365-Question Bank Software

=g 31/3
e HeA T I / HoaishA foig ®w | A
o TR BT SUANT : NgABH /AR onfe # grar 2 | Y
* AIGAIBROT UfBAT BT IUANT A I H AT Sl & | 2 3
8| T
H—Cl) — C|)—OH
H H 1
o U HT AT BT 7 | )
e CH,CH,OH -39 Jch 4+ HO 1
 ¥ig H,S0, FoiciaR® &1 Yifd SR &l | Ya 3
9. o At SfaRTel & g dedl @ A YURMET B grRIghad
BT | 1
o P ATl SAAdell bl AT TH ekl 8 | |
* IAGSH UBY B dI Ugfed # afg Bl & aifs g
AT 3Mer 9 gig 8 & HROT. a8 AASThAT goldg i
DI AT AR 3feID MBI BT % | 1 3
10. | » X(20)-2, 8, 8, 2 v,
. Y(17)-2,87 i
XY2
* L] - L] L] . . 1/2
. X +2.Y: = X2t [ ZYZ]Z' VARVA
o AT 37Tae / faggd |l fmEe Vs 3
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=i 31/3

T I / HoaishA foig ®w | A

* dScT & WANT H o9 Yg oI AR D Ul &I Yg dF HeX D
gl & A1 WHRT BT A7 A F, UEl § dhad R 7SR &
gre g U 8 | 1

o F, fidt @ Uil &I S@WRAT0T a’= R Ui F, 9 # @9 3iR
g SFl YR & B UiE g gy | 1

o F, ©Id&t & uieif # €1 diell &1 g Udhe B9 I8 RIg dear @
f divas @1 deror F, i@l | Femgerd ol g3l o, WRe] Udhe
(o) T8l BT U | 1 3

(Are afe 39 U39 &7 Sk Sfad quid Afed a8 3RS gI]T
feam ar 8, a1 99 R 3 Ry 99 )

o i auf § felt Sfa /RS o 89 drol o= gfRadsi
BT B8 g aRuTEREG®Y U Sfig /¥l of fFEfor gdar 21 | 1

INIRE 3BT DI Sfeadr e 8, Rifed d 31 ==

TG R 3MAdhed Aol Wl IR H £ | 1
* B9 AMA Bl SRV of Wahd & odd e s 3 =8

BT ©, W Al & gdol FH o | 1 3
e (1) <iffre S7= (i) oreifire S Y, Y

o <iffre S99 Srfd fAff=Tdd o= & oy SRR BT B
BT BRUT I8 & f6 DNA ufdafd a7+ 3§ ¢o Ffea B

ST 2 | 1
o Rifd gEH TR D AR AGT I (QT A= STD)
BT Holg= BT B | 1 3
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@rs 31/3
e we Eifad IR / Jedied fog 3iH AT
14. | « &1R® yaeid : I8 U ufdar & R 9 & $8 9T o
e T 31T ufeqan Sugad uRRefl § f[AaRaa ger g Y
e IO F & | Y
o T M : (1) &F F99 | 3Mfde diY ur fby 51 |ahd ® | )
(i) 991 IfRT e T AWG B | T DI A )
o Q1 BT - (1) 313 smgafdies fafi=ar =72, ora: wafavor #
TgdHerdr H BHI )
(i) drei @ a7 Hafq digl 7 sxqidRa & o 2| Y 3
15. | o I T@-e Ry ffY, e fAfe), erea fovan 3XY
N RIDIECOR IO %!
o S BT @R 941 I8AT 7, AUl §=dl IR NS O <
od 8, URaR Bl 31fdd AR Sudel 8 ddhd sl @ Brg) | 2 X Y| 3
16. Jqdel o/ JTARI o Y
oF,
1
oot @1 feem Y
1 1
f—p L,
P=-10D
1
f:m =-0.Im/-10cm 1/2 3
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=i 31/3

T3 g&

T&ifad S / Hedie fog

17.

18.

19.

3T BN Yol HT A1 raadt guif () # favad g |

o Rifdh gAY U gRT IO 39aci /b Ugal fUH
ERT U~ Y/ brd D FH BICT 2 |

a) SITEddl I~ &I b Sl SU:
o TN—ER SI[h} AT AT

o JIDHS ATCH BIAI/ LAl J Blg SURI

b) STA—HUTYT & ARAT /YA S B Qlesd DI AT/
=g Prg fafdr

Surfoid I&vr :

g IETT Sl STAR SiadIdd # fdl e gRT 31 fy o @
UR=] Tl Uil # aRIgId el 8kl

JETERT : PN S I /I /AR H BH /[T B &fel

1 G184 GO £

JHDI /ST DIRIBISAT § IR SAeToT ST 3FTell Uit

T B & HROT fewTs <d 2 |

JQIERT - TS BT auf /95 &1 T (Hl) /30 BIg IR
PRI :

IR ST § S1fSid d1etor DNA 312rdT 5= hIfdThiai § aig
IR ST 8] PR B |

JGIEXOT : U9 BT HH & BRI G & R H HH/IRR S el
AT & de O 3N & BRI DNA /49 HIRIGRT § ®ig aRdad
1 BIAT | Holawy I SeTvT 3Tell Wl I demgiTd el 8 |

Vot |3

V2

V2
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@rs 31/3
e HeA T I / HoaishA foig ®w | A
20. | (a) * QAVSI B HIA
HIGT B / 3MRgISI &7 Hior
U fABRIT BT Votls
o THITI @ &
fferd a7 &7 T
[EEANEENEIRIEE Votls
o Ivsdlfedl / bl Afdaer & st
USHIRIDT  (HIGT F7Hd) BT AR T ITTIRT
IBEECEIRDK] Yotls
(b) wH~=I P |XEAT:
T8 TP AT UBR BT TLRIGAT WAL & Il THIRR B
fafed # &= Bl & T1 Yo 9 el 8Kk © | 1
<l @ i -
A & WRER F YT DI TefbIol AT RIS /UIYoT YT B
@ folU U g8 &3 Uar HRA1/ il & IR fdaRia
BT 0T BT U7 Ul M YOI & SURIE] ST 7 & IRKR
H AENIRT BT | 1 5
21.| a) ¢ @rEd SR TSl & AID Y
¢ W CnH2n+2 1/2
e Tadhld  CH,, 2
° W CnHZn-Z 1/2
H H H
| | _ Y2 x 3
H—(|3—H H—C=C—H H—C=C—H
H
T
R R
\c=c< S H—C—C—H
R R | 1% |5
R R
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@rg 31/3
e HeA T I / HoaishA foig ®w | A
22. | (a) *F of| @I ghar H glg BT

« F Ted B oddrs § gg BT Vo X 2

1

1

)

%)

1 5
23. | (@) f=20cm Ya

%H AT 3 W u = — 40 cm @7 v= +40 cm f&3r T ®
g ey Mdaar 8 6 9 amdr o= (@@ 2f) &R g, 3fIq
2f=40 cm 3rar f=20 cm

(b) ¥ =T 6 B UTSTIH T TE 2 |

Riifd 59 u=—15cm 8 1 %= U & gd IR T BIHd
& 9 Rera 2| o ufafera smrft &R fawg @1 faem # & g9
MR | 3ra: gfafes 0 v FOMTHe 8 a1, IR Jgi I8
+120 cm <@fE T 2 |

(¢) f=20cm
A AT 2 B forg faror am@ : u=—-60cm; v=+30cm

V2
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@rs 31/3
e we Eifad IR / Jedied fog 3iH AT
A >
A v
1
fpxoniar feem i
_V_30cm _ 1 )
QIGOE] =—= coom - 95 5 ) 5
24. |a) Iol UUT /ORI TYOT %
-_....‘.. M
A R
r\.\ﬁj‘ﬁ;‘k @ 1%
5 PR PO
B TP B'F'..,‘. C
it Y feem v
N
b) SUANT : U¥E T U F WY H/ A Dlg SUAN 2
ST - 9w BT AT MR vd e wfafew go=r qen
T &F ARG BT %)
agpar rear ;- 99 e B ahar B IdT guvr S W
2| TUUT & ¢d iR Iohdl s & 41 @ 4| | Va
<qor @Y gl : Swid /IO /2
R=2f=24cm; .. f=12cm vz 5

9
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=g 31/3
e we Eifad IR / Jedied fog 3iH AT
-4
25. 1 1
26. 1 1
27. 1 1
28. 1 1
29. 1 1
30. 1 1
31. 1 1
32. 1 1
33. 1 1
34.

4X 7| 2

10
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s 31/3
e HeA T I / HoaishA foig ®w | A
35. | « @A W/ ® v
. yfafew &1 Ay 9T 2| A
.- yfaferw &1 dgar /=96 gedl S g | A
- U¢ R Pls W< YIS el 999dT dad TbI
&1 g7 faw@g < 2 | A 4
36. | o IO IS/ TAT TAT AIfSTH BeoIRISS 1
. AT foeHm &I -l X T ® | 1 2

11
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